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*The sum of the first two coins is 6 cents.
“ *The coin with the least value is not first.
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This set of inferactive logic puzzles will have kids
==ejefrie) for o -1 These brain teasers are an
engaging math center to help your -3 grade

students learn fo persevere through challenging tasks.
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Use | penny, | dime, and | nickel.

*The largest sized coin is first.
*The dime is not last.

Use | penny, | nickel, | dime, and | quarter. Q O

*The total of the first fwo coins is Il cents.
*The total of the middle two coins is 35 cents.
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an @9 Use 2 quarters, | nickel, and | dime.

*The sum of the middle two coins are worth the most value.
*The sum of the first two coins equals 35 cents.

{5{” o' O Q Q Q



http://www.mrswintersbliss.com/

/ I'ma
PROBLEM )/

ORSPVRE(GR.

Sivelent
SE
o Key,

PersevercncetAnchorChernd

Tcaaniﬁqn Coin Answer Key set: :
P=Penny N:Nickel D=Dime Q=Quarter
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T 's Cognition Coin Answers :
P-Penny N:Nickel D=Dime Q:Quarter
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